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Coding Decoding for SBI PO Pre, IBPS PO Pre, SBI Clerk Mains, 

IBPS Clerk Mains and IBPS RRB Scale I Pre Exams. 
Coding Decoding Quiz 67 
 

Directions : Read the following information carefully and answer the questions given beside. 
  

“Backlog disc live heavily” is coded as “ 2$A 4#I 8$E 12#I ” 
  
“Innocent band actress salute” is coded as ” 2#A 1$C 9%N 19&A” 
  
“Notify selfish model change” is coded as “14&O 13!O 19$E 3&H” 
  
“Langer hill external limelight” is coded as “12&A 12@I 8#I 5%X” 
 
 

Questions : 
 
1. Find the code for "Easy goals fulfilled"? 

A. 5#A 6!O 7@U B. 7$A 8!O 6@U C. 5#A 7!O 6@U D. 5$A 7!O 6%U E. None of these 
  

2. Find the code for "Take advance receipt"? 

A. 20#A 1$D 18$E B. 2#A 1$D 7$E C. 20#A 11#D 17$E D. 20$A 1$D 17$E E. None of these 
 

3. Find the code for "Advertise your product"? 

A. 1@D 5#O 6$R B. 1@D 25#O 16$R C. 1@D 25#O 16#R D. 1@D 25#O 16@R E. None of these 
 

4. Find the code for "Great gesture"? 

A. 7!E 7$S  B. 7!R 7$A  C. 7!R 7$E  D. 7!G 7$E  E. 7$R 7$E 
 

5.  Find the code for "Travel with wander"? 

A. 20&R 23#I 23#A B. 20&R 23&I 23&A C. 23&R 23#I 23&A D. 20&R 23#I 23&A E. None of these 
 
 
Correct Answers: 

1 2 3 4 5 

C A B C D 

 
 



 

 

Common explanations : 
 
The first element of the code represents the numerical value of first letter, considering A-Z as 1-26. 
 
For Example: Disk 
 
The first element would be 4, which represents the numeric value of D. 
 
The second element of the code represents the codes as per number of letters as shown in the following 
table. 
  

Number 
of letters 

Code 

4 # 

5 ! 

6 & 

7 $ 

8 % 

9 @ 

  
Disk has 4 letters, so its middle code would be # as per the table. 
 
The third element represents the second letter of the respective word. 
 
Second letter in the word Disk is ‘i’, so the last element would be ‘I’. 
 
Thus code for Disk would be 4#I. 
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Answers :  
 
1.   Following the common explanation, we can get the code for "Easy goals fulfilled" as 5#A 7!O 6@U. 
 

Hence option C is correct. 
 
 

2. Following the common explanation, we can get the code for "Take advance receipt" as 20#A 1$D 18$E. 
 

Hence option A is correct. 
 
 

3. Following the common explanation, we can get the code for "Advertise your product" as 1@D 25#O 
16$R. 

 
Hence option B is correct. 

 
 

4.   Following the common explanation, we can get the code for "Great gesture" as 7!R 7$E. 
 

Hence option C is correct. 
 
 

5. Following the common explanation, we can get the code for "Travel with wander" as 20&R 23#I 23&A . 
 

Hence option D is correct. 
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